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Hello everyone. So, we have been discussing about Weibull Distribution. So, we have now 

moved to lecture number 12. We will discuss more about three parameter Weibull 

distribution as well as one more application of Weibull distribution here. So, as we see here, 

let us see, we have discussed what is three-parameter distribution, I have built Excel sheet 

here there all those formulas I have already put up here what we discussed with the three 

parameter Weibull distribution as we see here, I have included the third parameter here that is 

let us say t0. So, if we take t0 equal to 10, what will the impact here.  

So, I have started this calculation from t0, so, t0 plus certain a little bit higher value so, that 

you will be able to calculate because at t equal to same as 10, it will be undefined. Now, here 

if you see if I increase let us say if I change the location parameter then what will happen? 



So, if I make it let us say 20, what will happen? The visible changes not there let us say I will 

make it 100, if I make it 100, you see that the values are changed or if I make it 90.  

So, this simply shifted nothing much changes there the Weibull or the distribution is only 

shifted. So, let us see if I make it from 200 or I will say I will do not take this, let us make it 

150, then what will happen it will be only shifting towards right nothing much changes 

happening, because up to this value the reliability is equal to 1 then now, let us say if we 

consider that t is 20 here only.  

But let us say if we take the change in beta, if I make it beta change it is becoming more and 

more modal. If you see there is another thing which you can see here, let us say if we talk 

about the is this is small ft distribution small ft is the PDF. What does PDF tell? PDF is 

telling us where the failures are concentrated. So, if we have a full population, then from the 

population most of the failures are populated in this region while here still some equipment’s 

continue to work for a longer period, most of the failures are happening within this period. 

Now, for this if I make let us say beta equal to 3, what happens here the this is becoming 

much sharper, that this peakedness is increasing.  

So, failure concentration is also becoming in less area this is also visible, if you look at the 

standard deviation, standard deviation is 3 to 4, but when I took beta equal to 2 standard 

deviation was 463, when I made beta equal to 3 standard deviation has become 324, that 

means the standard deviation has reduced or the variability has reduced or the distribution has 

become peaked.  

Now, let us see if I make this more let us say I make this 6 then my standard deviation is 

further decrease it is becoming only 180 and this very sharp, sharp distribution here means 

that most of my failures are going to be in small smaller region. So, for a company it is 

desirable, if you have the higher beta it will have the less variance and because of the less 

variance or because of the less standard division what is happening you are having larger 

failure free period if you see that up to almost 400 hours 500 hours the chances of failure are 

very small.  

But when we move to this area, most of the failure occurs and nothing is surviving very long. 

So, very few units will survive very low. So, failure concentration is becoming you know, 

smaller zone. And that is that would be the desirable situation for the manufacturer because 



this is going to help him understand that where the failures are occurring, but this is only 

happening when there is a deterioration.  

So once we know that deterioration kind of failures are there, we have much more certainty 

about it like if you see, like if we simply change theta here, what will happen, this will be this 

is supposed to stretch, but not much. If you see most of the failures are concentrated in here, 

sorry, this is to 2000.  

Failures are starting to happen after a longer period of around 1000, like when we took 1000 

here than most of the failures were happening somewhere around 600, failures were starting 

to happen, the earlier failure probability was very less, we are happening somewhere around 

400 or 300 around, but when we made it 2000. Then we see that failure, the probability of 

failure was very small up to somewhere around 800, when we made this 3000 then 

probability of failure was small almost up to 1100 or 1000.  

As we see here, as we are having high characteristic life, it is means that my failures are 

starting late to happen when beta is high, but when beta is small, then in that case, it does not 

make much difference, the number of the probability of failure is still existing here it is 

comparable here, but when beta is high, then chances of early failures would be less, most of 

the failures would be concentrated in a smaller zone here.  

So, because of that, this gives us an understanding that the system, if we know more about the 

system, if we know the degradation mechanism, if we are able to design the system better, 

then we are expecting that beta should be larger. So that variability is lesser, variability about 

the failure time is lesser. So that will help us to decide our policies better, our surprises will 

be lesser and but the chance failures cannot be ignored, chance failures which are there due to 

the random failures, they may still happen. So that may further give rise to the ft value.  

So those because of that, early failures may be more but if all, if those can be removed, then 

you may have a very less chance of failure till you are having a certain life period around 

missed in that case this empty tf is having much more meaningful 918. If we look at it 918. 

That is the central almost central where the failures are happening when beta is large, but 

when beta is small, then it is not having much impact because variability is high. So, at 1000 

if you look then it is already past much after the PQ, if we take 1.5 if you see that further 

1000 values coming in too far towards the, towards the peak, away from the peak.  



So, here, if we look at the Weibull distribution, it is it can show you various factors, it can 

show you the various ways of the failures are happening and will help you to model various 

scenarios, which are happening in the field or with the manufacturing. And if you are able to 

understand this better, it will give you very much insight into your design process and the 

manufacturing processes.  
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There is a like we discussed for exponential distribution, if you put two components in 

parallel or redundant fashion that means if one component fail, the system will still continue 

to work. So, for system failure, both components should fail. So, we have the parallel 

redundancy here, that means two out of the two components should fail here.  



 

So, we have already seen this in the when we discuss the CFR model, constant failure rate 

model that when we put two into parallel then system reliability becomes R1 plus R2 minus 

R1, R2. If both are identical, we are assuming that both are identical and independent. So, 

since both are identical R1 t is equal to R2 t which should be equal to R, Rt. So this can be 

written as Rt plus Rt minus Rt square.  

So this will become 2 Rt minus Rt square. Where what is Rt, Rt is equal to single component 

reliability which is e to the power minus t upon theta raise to the power beta. So, our system 

reliability in this case will become 2 into e to the power minus t upon theta raised to the 

power beta multiply by R square, can I take a square of this this will become multiply by 

power will be multiplied by 2. So, e to the power minus 2 into t upon theta raised to the 

power beta. 

As we have seen this quantity I can write it is e to the power minus t upon into 2 raised to the 

power 1 upon beta divided by theta raised to the power beta or I can write it as e to the power 

minus t upon theta divided by 2 to the power 1 upon beta whole raised to the power beta, this 

is same as what we did earlier or in case of multiple failure modes that our theta is changed to 

theta divided by 2 raised to the power 1 upon beta.  

So, this is a this becomes a standard form for Weibull distribution reliability formula. So, 

there beta is same and theta has become theta divided by 2 raised to the power 1 upon beta. 

Now, we know this is the standard that we know that when Rt is equal to e to the power 

minus t upon theta raised to the power beta, then my MTTF, MTTF which is equal to 



integration from 0 to infinity Rt dt, this comes out to be theta gamma function of 1 plus 1 

upon beta.  

So, same thing if we apply here, then 2 will remain same, and then we take integration of this 

from 0 to infinity this will give me gamma function of theta into gamma function of 1 plus 1 

upon beta same thing, what we have got here, for this when we do the integration, this will be 

theta is this and beta is this.  

So, when I apply the formula this will become theta upon 2 raised to the power 1 upon beta 

gamma function of 1 plus 1 upon beta. Same thing I have written here theta upon 1 2 raised to 

power 1 upon beta gamma function of 1 plus 1 upon beta. So, this becomes my new MTTF, 

MTTF of this system. 

So, this MTTF of the system and what I can do I can take gamma function of 1 plus 1 upon 

beta into theta as common from here also from here also, then what is remaining, 2 is 

remaining from here and 1 upon 2 raised to the power 1 upon beta is remaining here. So, 

taking common theta gamma function of 1 plus 1 upon beta the remaining is 2 minus. Now, 

this I can take it up this will become 2 to the power minus 1 upon beta.  

So, MTTF becomes theta gamma function of 1 plus 1 upon theta multiplied by 2 minus 2 

raised to the power minus 1 upon beta. Now, if we want to calculate. So, MTTF calculation is 

clear now, let us say if you want to calculate lambda s or if you want to calculate fs. So, we 

know that f t is equal to minus dR t over dt. So, differentiating this function with respect to t 

will give me the fs t, if I differentiate this, then we know that 2 will remain as it is if we 

differentiate this then we have to differentiate this.  

So, this differentiation will give beta into t upon theta raised to the power beta t raised to the 

power beta minus 1 into e to the power minus t upon theta raised to the power beta minus, if I 

differentiate this I will get so, minus sign was also there, but minus sign will be cancelled 

with this minus. So, that is why I am not putting minus, minus minus will become plus here.  

So, minus of this which is coming down that will be compensated by this minus so, this will 

again remain, so, sign remains same here. So, differentiation of this will produce 2 into again 

beta t to the power beta minus 1 divided by theta raised to the power beta. Once you take this 

then if I take common that is beta I can write this as beta upon theta into t upon theta raised to 

the power beta minus 1.  



If I take this as common this is this, then what is remaining and I can also take e to the power 

minus t upon theta raised to the power beta as common. Then what is remaining here is 2. So, 

this I have taken common and e to the power minus 2 into t upon theta raised to power beta is 

there. So, this is square of the t upon theta raised to the power beta. So, 2 is here, 2 is here 

also.  

So, 2 e to the power minus t upon theta raised to the power beta will come from here, because 

this was 2. So, 1 has come out 1 will be remaining here, because it was square of this. So, this 

gives me the fs t. So, fs t becomes 2 into beta upon theta, I can take 2 also outside or I can 

take write in this fashion 2 upon 2 into beta upon theta t upon theta raised to the power beta 

minus 1 into e to the power minus t upon theta raised to the power beta and this is e to the 

power minus 2 upon 2 t upon theta raised to the power beta this is the remaining similar like 

2 raised to the power 1 upon beta multiplied by 2 raised to 1 upon beta whole raised to the 

power beta minus 1 if we say then this will become 2 which is coming out.  

So, this we have got, and this is my fs t to get the lambda t, lambda is equal to lambda t is 

equal to ft upon Rt. So, this is my ft already available here. Now, what I have to do I have to 

divide it by the Rt, what is my Rt here? Rt is 2 e to the power minus t upon theta raised to the 

power beta if I take minus e to the power minus 2 t upon theta raised to the power beta, if I 

take e to the power minus t upon theta as raised to the power beta as common than this will 

be equal to e to the power minus t upon theta raised to the power beta into 2 minus e to the 

power minus t upon theta raised to the power beta. 

If you see it here, this will get cancelled with this and what is remaining is beta upon theta 

into t upon theta raised to the power beta minus 1 multiplied by 2 minus 2 e to the power 

minus t upon theta raised to the power beta divided by 2 minus e to the power minus t upon 

theta raised to the power beta.  

So, this gives me this is very similar to what we have got in the constant failure rate. The only 

difference is beta was 1 there so, if beta we put 1 there then this was coming as the lambda, 

lambda into 2 minus 2 e to the power minus lambda t and this was 2 minus e to the 1 minus 

lambda t similar. So, this also have the similar function that when t is tending to infinity what 

will happen when t is tending to infinity then this value tend to be 0 this value tend to be 0 

when time is large, this will become negligible This will reduce. So, this will become 2 upon 

2 and the failure rate was lambda as we discussed earlier, when two components are in 



parallel, then as time becomes large the system failure rate reaches the single component 

failure rate lambda. 

Same is applicable here when time is large what will happen this will tend to 0, this will also 

tend to 0, this will become 2 upon 2 that will be equal to 1, and what is remaining is beta 

upon theta into t upon theta raise to the power beta minus 1 which is the failure rate for one 

component as we have considered earlier.  

So, when time becomes high, time tends to infinity then our failure rate for the system is 

tending to be the same as the failure rate of one component. But as we discussed earlier 

neither for exponential, neither for Weibull distribution, if we have components in parallel, 

then it will not result in a Weibull distribution.  

So, if two components Weibull components are in parallel, we are not able to get the same as 

the Weibull distribution as you see here, this distribution cannot be represented in a standard 

form of the Weibull distribution. And as we discussed for larger value of t the system failure 

rate approaches the failure rate of single component.  
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Let us take one example, that we have two fuel pumps and both are having failure 

distribution with beta equal to 1 by 2 and theta equal to 1000 hours. So, that means, my 

reliability for each component is e to the power minus t upon theta. So, that is t upon 1000 

raised to the power beta 1 by 2.  



Now, we want to know the relative 100-hour mission. So, we know that Rt is equal to Rs t 

will be equal to twice of e to the power minus t upon theta raised to the power beta 0.5 minus 

square of this that is minus twice of t upon theta raised to the power beta. Once we apply this 

formula here, we will get the reliability we want to know 100-hour reliability. So, we can 

calculate the 100-hour liability here.  

 

                                            MTTF  
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Let us see how we can get this here. So, we can take first term, first term is equal to 2 into 

exponential of minus of t is 100 here divided by theta is 1000 here whole the raised to the 

power, beta is 1 by 2 0.5, second term is equal to exponential minus t minus 2 into or we can 

say minus 2 itself I can write minus 2 into t divided by theta whole raised to the power beta, 

beta is 0.5 and my reliability is this minus this.  

So, this becomes my system reliability Rs 0.9265. What is my MTTF? As we discussed 

earlier MTTF like for first term if I want to calculate MTTF that will be equal to 2 into 

gamma function of 1 plus 1 divided by beta, beta is of 0.5 and for this multiply sorry multiply 

by this multiply by the theta is 1000 and this will be equal to as we discussed earlier this will 

be equal to theta, theta is change to theta divided by 2 raised to the power 1 divided by beta.  



So, 0.1 by 0.5, 1 by 1 by 2 if I do this will become 2, multiply by gamma of 1 plus 1 divided 

by 1 by 2 that will become 2 and answer would be equal to this minus this which comes out 

to be 3500 hours. So, my MTTF also we are able to calculate this is my MTTF. As we know 

if I, if I did not have this if I want to know for single components, for single component this 

was exponential minus t was let us say 100 divided by 1000 whole raised to the power 0.5. 

This was my single component reliability that is 0.7288 and MTTF for the same is 1000 into 

gamma function of 1 plus 3, 1 plus 2, 1 plus 1 by 2 is 2 that comes out to be 2000.  

So, if we see it here that by having two component by reliabilities change to from 2000 it is 

changed to 3500. But, in case of CFR the relative is 1.5 of this that means, if I had taken that 

would have been 3000. But because of different beta, beta is 0.5 here the reliability 

improvement has been like has been like if we see here, it is almost double 2000 has become 

3500 the MTTF has increased to that, while reliability is changed from 0.72 to 0.92 when we 

use components in parallel. Similar thing if we want to investigate let us say if you take beta 

is was equal to 2 let us hypothetically assume this question is solved let us say if we assume 

beta equal to 2.  

So, in that case let us see how it impacts rather than 0.5, I will write wherever beta have taken 

I will take 2, then my reliability was this. And my MTTF, I will take 2 beta is 2. So this will 

become 1 by 2 and this will also become 0.5, I will write 0.5 here. If you see here that here 

the ratio is 1.29, but when beta was 0.5, the ratio was 3500 divided by 2000, which was 

around 1.75. 

If you see that here or depending on the value of beta you may have a different improvement. 

So, when we changed when beta was less than the improvement was more in MTTF because 

of the redundancy, but when beta was higher than it became 2 my improvement has become 

1.75 times. So, similarly we will be able to, we can see that or whether for different values of 

beta we may have a different improvement in MTTF when we are having the redundancy in 

the components.  

So if I had made it properly I could have shown like we have shown with beta different 

values or if I take let us say beta value if I write separately, then it will be much easy. Let us 

say beta I am writing here 2. So, then we can investigate that how this happens. And theta is 

1000, now I will write the standard formula here. So that is twice of exponential. Let us say 

time, time also I will write. Time is 100 here. So, when time is 100 then this will become 2 



into time divided by theta raised to the power beta. This will become time divided by theta 

raised to the power beta.  

This will become 2 into gamma 1 plus 1 upon beta plus 1 plus 1 divided by beta multiplied 

by theta this is theta divided by 2 raised to the power 1 by beta multiply with gamma 1 plus 1 

divided by beta, this we can take it here as the ratio so, now, let us say, if we investigate that 

when let us say beta is 0.5, then my ratio was 3.94, when I took beta equal to 1, 1.69 265 

gamma of this 2 to the power minus 2 only or minus 2 is minus beta, just let me just check 

this formula once again that we have MTTF 2 to the power minus 1 upon beta. So this will I 

took a division then minus sign will be adjusted here.  

So, same thing, as we see here when we put 0.5, if you put 1.69. When beta is around 1.5, I 

will have 1.39, I am making 2 1.29 then I am making it 4. If we see that, as beta is increasing 

the effect of having redundancy may not be that much in improvement in MTTF as it was 

there for the lower values of the beta. We can do this exercise you can try this exercise once 

again to see that how the change of beta is giving you the improvement in MTTF, but 

reliability improvement can already be, can also be seen here. And this will give you an idea 

that when you improve redundancy, whether it is effective or not, that can also depend on the 

value of the beta.  

So, by doing this exercise, you can do more intensive exercise by taking different values of 

beta for different theta’s also, theta’s will actually not change much in MTTF, that will be 

similar proportion will be there. But reliability also you can look into that how reliability 

ratios are being changed. So, this all you can do and or you can do much more exercise which 

will be given to you in as assignment. So thank you. Next time we will continue our 

discussion with normal distribution. Thank you.  

 

 


